EN: This Datasheet is presented by the manufacturer.

Please visit our website for pricing and availability at www.hestore.hu.



http://www.hestore.hu/

2 3 | 4 5 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
0 ekl A [NEW RELEASE LJH 08/13/05' o LJC 08/13/05
ITEM PART NAME Qty NOTES C | Ay g oz R~ YCH 07/18/08’ a2 LJC 07/18/08°
) — ‘ n— 1 PLASTIC HOOD 2 SEE P/N D [ & tuiem YCH 05/20/10’ 2 LJC 05/20/1Q
——m 1l | [ : NES LONG BOLT 2 #4—40 E | coM3% 120008 4T JyM3%10 YCH 08/30/10’ a2 LJC 08/30/10°
" H\{ - 2.2| SHORT BOLT 2 #4-40 F |ADD P/N CODE LIC 12/24/13 2 LIC 12/24/13
| = 3 NUT 2 M3 H ADD LOGO JLZ 12/17/14° ~
4 LONG SCREW 2 M3
NOTES:
24.99 > SHEEE W SRR 2 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
7 METAL WASHER 2 M3 DS1045 — 09 X X X X X — XL
30.8 Hood Materials ®
- A: ABS
12.0 B: Similar ABS
1 Washer type
N 1: Metal
=
— ‘ — N
| | | Bolt type
L: Long
‘ S: Short
Packing type
| @ 1: Mix packing
‘ © i 2: Separation packing
! S‘; ) Q: Full packing
‘ J f f Cover Material
|— | P: Plastic(ABS)
- |- - - - E H — + + - Cover Color
‘ N I T A: Gray
I B: Black
H H V: lvory
t\l_;‘_ll_—// POSWOT]
5 = SHORT SCREW 2 09: 9pin
‘ o 13.7
~y 1.0
8 UNCH#4—40 M3 3
2 -
7.0 X 4—40 UNC § 3 2 T i =
| " s & o 5.40
|
I A - - dow bt 7%7 Short BOLT NUT  t=2.3mm
N/ @ ol 1 ‘ M3 118 4 5
|| = S 80
| 6 2 Y §7 ‘
1 g 13.5 S| 1
30.5 R ep—a } %é, E
44
]
Long BOLT LONG SCREW
SMALL WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @7EF TITLE| D-SUB Plastic Hood 180°
X.  +0.60 X. %5 UNITS mm 9 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2° =
DRAWING TYPE [COSTOMER = 45;];] EE‘ ? ﬁ‘ BE /A\ a
s 1_|SHEET |1 OF 1 o CONj;lFLY ELECTRONIC CO., LTD
DRAWING NO. |C—DS1045—09XXXXX—X—H| EOMANFLY .y
! 2 3 4 | 5 6 ! 7 ! 8



Administrator
新建图章


2 3 | 4 S | 6 | | 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
A | NEW RELEASE LJH 05/18/05’ ~ LJC 05/18/05’
ITEM | PART NS Qs T C | Momsmig e R YCH 07/18/08’ ~ LJC 07/18/08’
/_ﬂ—g—l‘lﬂ 1 PLASTIC HOOD 2 SEE P/N D e YCH 05/20/10, ~ LJC 05/20/10,
u_m_“ o |21 LONCREEET 2440 E | ADD P/N CODE LIC 12/24/13’ ~ LIC 12/24/13'
| 2.2| SHORT BOLT 2 #4—-40 G ADD LOGO JLZ 12/17/14° N
‘ 33.32 ‘ 3 NUT 2 M3 NOTES:
39.2 4 LONG SCREW 2 M3 1. Hardwares are all Nlicke\ plated.
2. PART NUMBER CODE:
5 SMALL WASHER 2 DS1045 — 15 X X X X X — X
6 SHORT SCREW 2 M3 LQfO/SBSMO‘eﬂD‘S ®
7 METAL WASHER 2 M3 B: Similar ABS

1:

Washer type

Metal

1 Bolt type
L: L
: - G long
| \ | Packing type
1: Mix packing
2: Separation packing
Q: Full packing
CONRE Cover Material
B ® 2 cowr el
'L:(r)) ’\y; 1o . (/iovcer Color
- - ra’
": @‘%@ é’b UNC#4—40 B Block
V: Ivory
n v I
\ / f—L—JrH——— 15: 15pin
y
f— Short BOLT
8.0
4
M3 13.5
- !1 \_
4—40 UNC 9 " \ — B
rg gj 480
9.9 } } \ é% LONG SCREW ( NUT  t=2.3mm
Y ‘ U] 4.0 I :
U 6:6 % " 6 § 4.8
13.5 9 < 5 ‘
C i 7 0.5 MS 5.9 go- _\ T
44 TN 232
== 0|
7 9 Long BOLT > — é\ 2
“ & | ‘
O : i
. | ! SHORT SCREW SMALL WASHER
o M3 GENERAL TOLERANCE ANGLE TOLERANCE [ PROJECTION @*EP TITLE | D-SUB Plastic Hood 180°
= X.  +0.60 X. 45 UNITS 15 Positions
%@%I EI X +0.38 X %3 SHEET SIZE SERIES | DS1045 SERIES
11.0 XX +0.25 XX 22
162 DRAWING TYPE |COSTOMER }T?( iﬂ EE ? ﬁ BE j
Metal -
SCALE 11 |sHeet [1 OF 1] SEY o ‘CONNFLY ELECTRONIC co LTD
DRAWING NO. [C—DS1045—15XXXXX—X—G "7
I 2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


2 3 4 5 | 6 | L 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LJH 10/26/05’ ~ LJC 10/26/05
ITEM PART NAME Q'ty NOTES C | Herpseiiitaze ]RoJ YCH 07/18/08’ ~ LJC 07/18/08°
54.0 1 PLASTIC HOOD 2 SEE P/N D W A f e AT YCH 05/20/10’ ~ LJC 05/20/1Q’
47.04 5 |21 LONG BOLT 2 #4-40 E |[ADD P/N CODE LJC 12/24/13 ~ LIC 12/24/13’
M. 5 ‘ 2.2| SHORT BOLT 2 #4—40 G |ADD LOGO JLZ 12/17/14 ~
- 3 NUT 2 M3
! \ \ 4 LONG SCREW 2 | M3 NOTES: _
! : 1. Hardwares are all Nickel plated.
-ltl'l: i :I'Iﬂ 5 SMALL WASHER 2 2. PART NUMBER CODE:
T T yj 6 SHORT SCREW 2 M3 S R R R XLHood Materials ®
‘ 7 METAL WASHER 2 M3 2 . .
@, 1.0 . Washer type
s/ UNC#4—40 1t Metal
8.0 []
% 764’4|E|7’ Bolt type
! é LS(;:)%(
‘ Pock_'mg typ_e
i Short BOLT ;:: !;xpoegfﬁggpockmg
i Q: Full packing
‘ Cover Material
' P: Plastic(ABS)
] Jr @ iovgr Color
of 3 TN S
S | M5 Vi vory.
I Position
‘ - 25: 25pin
T ’ T
= . | . NUT  t=2.3mm
C ‘ ),
\ - ©
40.8
2/ .
4—-40 UNC “O’_ - i T
— \ == :
N ‘
6.6 3 o T i
13.5 3 ¥
30.5
44 6 )
Long BOLT M3 . &
SHORT SCREW
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @{lr TITLE | D-SUB Plastic Hood 180°
X +0.60 X 45 UNITS mm 25 Positions
X +0.38 X 13 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2°
»
DRAWING TYPE [COSTOMER }I% ﬁ]}] EE‘ ? ﬁ I}E /A.\ a
SCALE 1:1 |SHEET [1 OF 1 o
DRAWING NO. lo—Ds1045—25000xx—x—g| €onnFLy® CONNFLY ELECTRONIC CO., LTD
1 2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


1 2 4 5 | 6 I 7 I 8
i REV. DESCRIPTION DRAWN CHECKED APPROVED
. A |NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05’
‘IEM :&E‘CNASSOD QZW — E%ES C | mmmimige F YCH 07/18/08’ ~ LJC 07/18/08'
LONG BOLT 3 #4—40 D | 0”4tk s YCH 05/20/10’ ~ LJC 05/20/1Q’
2 s ;
SHORT BOLT = #2—40 E |ADD P/N CODE LJC 12/24-/13, ~ LJIC 12/24/13
3 NUT 5 M3 G |ADD LOGO JLZ 12/17/14 ~
4 LONG SCREW 2 M3 NOTES: i
1. Hardwares are all Nickel plated.
o) SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 — 37 X X X X X = X
6 SHORT SCREW 2 M3 TTTT T hHood Materials ®
7 METAL WASHER 2 M3 g; g?{im ABS
Washer type
1: Metal
Bolt type
29.8 : Lon
9.70 é: éhogrt

——Packing type

1: Mix packing

13.7 2: Separation packing
Q: Full packing
A/J | UNC#4—40 S?V:\roshfx?(igos‘)
a 7Cf}ver Color
e — A
V: Ivory
——————————Position
N :: 37: 37pin
T {’ Short BOLT
3
M3
NUT t=2.3mm
12.05
4.8
5 | ‘
Z 522 [ o
13.70 ‘ 4—40 UNC s - ‘\ — = l o
=il \ JARN
40 >
6.6 3 -
n 305 | 3 a""g
44
Long BOLT
SHORT SCREW
240 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @{lr TITLE| D-SUB Plastic Hood 180°
18.0 /Ms X £0.60 X 45 UNITS mm 37 Positions
s J X +0.38 X 13 SHEET SIZE A4 SERIES | DS1045 SERIES
o §}42 “"] XX +0.25 XX +2° .
4 DRAWING TYPE [COSTOMER JI% ﬁ]ﬁj EE; ? ﬁ I}E /ZA\ ﬁj
Metal SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. C—DS1045—37xxxxx—x—c| €onnFLy® CONNFLY ELECTRONIC CO., LTD
1 2 4 | 5 6 I 7 I 8



Administrator
新建图章


2 4 o) | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A | NEW RELEASE YCH 05/24/11 ~ LIC 05/24/11
B |ADD P/N CODE LIC  12/24/13 ~ LIC 12/24/13
C | Arrange Drawing JLZ 10/09/14’ ~ LIC  10/09/14
69.50 D |ADD LOGO JLZ 12/17/14 ~
61.00
NOTES:
1. Hardwares are all Nickel plated.
2. PART NUMBER CODE:
DS1045 — 50 X X X — X
LHcod Materials®
A: ABS
B: Similar ABS
1 Packing type
11.10 53.80 \ 1: Mix packing
2: Separation packing
Cover Color
CH K B | [N A A: Gray
\ B: Black

45.90

49.79

P:

Cover Material

Plastic(ABS)

Position

50: 50pin

3

M3

84.0

@ 1

UNC#4-40 K
12.72 @j
5.0
NUT  t=2.3mm 305 6.0
e
l,') &')Q BOLT
q% A 4;
q— M3 11.5
1 LONG SCREW
6
5
M3 3.5
BOM LIST E @
ITEM PART NAME Q'ty NOTES LONG SCREW BIG WASHER
1 PLASTIC HOOD 2 SEE P/N
2 BOLT 2 #4-40 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @{} TITLE| D-SUB Plastic Hood 180°
3| NuT 2 | M3 X.  +0.60 x. x5  [UNITS mm %0 Posttions
4 M3*10 SCREW 2 M3 X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
5 M3*12 SCREW 2 M3 XX +0.25 XX +2° .
6 | BIG WASHER 2 [ wm3 DRAWING TYPE [CUSTOMER }% ﬁl;] EE» ? ﬁ I}E /ZA\ a
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. |C—DS1045—50XXX—X—D connFLy® CONNFLY ELECTRONIC CO., LTD
2 4 | 5 6 I 7 I 8



Administrator
新建图章


